



Some properties for subclass of analytic functions with nonzero coefficients

T. G. Thange ^{1*} and S. S. Jadhav²

Abstract

In the given article, we introduced new subclass of normalized analytic function namely $R^t(1, A, B, \alpha)$. Coefficient inequality, necessary and sufficient condition for the functions in this class are given. The inclusion property and condition for univalence with linear n^{th} derivative operator is also pointed out.

Keywords

Univalent, Analytic, Starlike.

¹Department of Mathematics, Yogeshwari Mahavidyalaya, Ambajogai, Beed, MH, India.

²Department of Mathematics, Sundarrao More Arts, Commerce, and Science (Sr.) College, Poladpur. Tal, Poladpur Dist, Raigad-402303, India.

*Corresponding author: ¹ tgthange@gmail.com

Article History: Received 01 October 2020; Accepted 23 December 2020

©2020 MJM.

Contents

1	Introduction	2259
2	Introduction	2259
3	Linear n^{th} differential operator and class $R^1(t, A, B, \alpha)$	2260
4	Main results	2260
	References	2262

1. Introduction

2. Introduction

Let N denotes subclass of normalized analytical function in open unit disc $U = \{z : |z| < 1\}$ given by

$$\psi(z) = z + \sum_{k=2}^{\infty} a_k z^k. \quad (2.1)$$

For the function $f \in N$, [1] has introduced the class namely $R^1(A, B, \alpha)$ as

$$\left| \frac{\psi'(z) - 1}{l(A - B) - B(\psi'(z) - 1)} \right| < \infty, \quad (z \in U). \quad (2.2)$$

Where A and B are complex numbers with $A \neq B, t \in \mathbb{C} \setminus \{0\}$ and $\alpha \in \mathbb{R}^+$. Dixit and Pal [5] studied the class $R^1(A, B, 1)$.

Moreover, the researchers in ([6, 7, 8]) studied the class $R^1(A, B, \alpha)$ Here * denotes the usual Hamdard product.

for different values of t, A, B and α The Gaussian hypergeometric function $F(a, b, c, z)$ is given by

$$F(a, b, c, z) = \sum_{k=2}^{\infty} \frac{(a)_n (b)_n}{(c)_n} z^k$$

($a, b, c \in \mathbb{C}; c \neq 0, -1, -2, \dots$; $z \in U$), where $(v)_n$ is defined in terms of gamma function as given bellow

$$(v)_n = \frac{\tau(v+n)}{\tau(v)} = \begin{cases} 1 & , \text{if } n = 0 \text{ and } v \in \mathbb{C} \setminus \{0\} \\ v(v+1) \dots (v+n-1) & , \text{if } n \in \mathbb{N} \text{ and } v \in \mathbb{C}. \end{cases}$$

We note that

$$F(a, b, c, 1) = \frac{\tau(c-a-b)\tau(c)}{\tau(c-a)\tau(c-b)} \quad (\Re\{c-a-b\} > 0).$$

The geometric properties of $zF(a, b, c, z)$ like univalence, star likeness and convexity have been studied by Vuorinen and Ponnusamy [3] and Ruscheweyh and singh [4]. For $\psi \in N$, [1] has defined the operator $I_{a,b,c}\psi$ by

$$I_{a,b,c}\psi(z) = zF(a, b, c, z) * \psi(z) \quad (2.3)$$

$$I_{a,b,c}\psi(z) = z + \sum_{k=2}^{\infty} \frac{(a)_{k-1} (b)_{k-1}}{(c)_{k-1}} a_k z^k \quad (2.4)$$

3. Linear n^{th} differential operator and class $R^1(t, A, B\alpha)$

[1] has used the linear operator as defined in (3). We introduced Linear n^{th} differential operator which is obtained by taking n^{th} derivative of (3) as given bellow.

Definition 3.1. For $\psi \in N$, we define the operator $(I_{a,b,c}\psi(z))^t$ by

$$(I_{a,b,c}\psi(z))^t = t!L_t + \sum_{k=2}^{\infty} k(k-1)\dots(k-t+1)L_k z^{k-t}, \tag{3.1}$$

where

$$L_t = \frac{(a)_{t-1}(b)_{t-1}}{(c)_{t-1}} a_t \quad a_1 = 1, t \geq 1.$$

Definition 3.2. A function $\psi \in N$ is said to be in class $R^1(t, A, B\alpha)$ if

$$\left| \frac{\psi^t(z) - t!a_t}{l(A-B) - B(\psi^t(z) - t!a_t)} \right| < \infty, \quad (z \in U, a_1 = 1, t \geq 1), \tag{3.2}$$

where A and B are complex numbers with $A \neq B, t \in \mathbb{C} \setminus \{0\}$ and $\alpha \in \mathbb{R}^+$ For $t = 1$, we get the subclass defined by [1].

4. Main results

In this theorem, we found necessary condition for the class $R^1(t, A, B\alpha)$.

Theorem 4.1. Let function of the form (1) be in class $R^1(t, A, B\alpha)$ with

$$a_n = |a_n| e^{i\frac{(3n+t)}{2}\pi},$$

then

$$\sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)(1-\alpha|B|)|a_k| \leq \alpha|t||A-B|. \tag{4.1}$$

Proof. Suppose $f \in R^1(t, A, B\alpha)$

$$\begin{aligned} \therefore |\psi^t(z) - t!a_t| &< \alpha |l(A-B) - B(\psi^t(z) - t!a_t)| \\ \psi^t(z) = a_t t! + \sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)a_k z^{k-t} \end{aligned} \tag{4.2}$$

$$\begin{aligned} &\left| \sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)a_k z^{k-t} \right| \\ &< \alpha |l(A-B) - B(\psi^t(z) - t!a_t)| \\ &= \alpha |l(A-B) - B \sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)a_k z^{k-t}| \end{aligned}$$

Put $z = r.e^{i\frac{\pi}{2}}$.

$$\begin{aligned} a_k z^{k-t} &= |a_k| e^{i\frac{(3k+t)}{2}\pi} r^{k-t} e^{i\frac{(k-t)}{2}\pi} \\ &= |a_k| r^{k-t} e^{2k\pi i} \\ &= |a_k| r^{k-t}. \end{aligned}$$

$$\begin{aligned} &\left| \sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)a_k z^{k-t} \right| \\ &< \alpha |l(A-B) - B \sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)a_k z^{k-t}| \\ &\sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)|a_k| r^{k-t} \\ &< \alpha |l(A-B)| + \alpha |B| \sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)|a_k| r^{k-t}. \end{aligned}$$

Now,

$$\sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)(1-\alpha|B|)|a_k| r^{k-t} < \alpha|l||A-B|.$$

Letting limit $r \rightarrow 1^-$, we have

$$\sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)(1-\alpha|B|)|a_k| < \alpha|l||A-B|.$$

Hence proved the theorem. □

The following result gives us the coefficient estimates for the functions in the class $R^1(t, A, B\alpha)$.

Corollary 4.2. The function of the form (1) be in class $R^1(t, A, B\alpha)$ with

$$a_n = |a_n| e^{i\frac{(3n+t)}{2}\pi}.$$

Then

$$|a_k| \leq \frac{\alpha|||A-B|}{k(k-1)\dots(k-t+1)(1-\alpha|B|)} \quad k \geq 2. \tag{4.3}$$

Proof. For the function $\psi \in R^1(t, A, B, \alpha)$,

$$\psi(z) = z + \sum_{k=2}^{\infty} a_k.$$

□

Theorem 1 gives us that,

$$\sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)(1-\alpha|B|)|a_k| < \alpha|l||A-B|.$$

Hence,

$$|a_k| \leq \frac{\alpha|l|A-B|}{k(k-1)\dots(k-t+1)(1-\alpha|B|)}, \quad k \geq 2.$$

In the next theorem we found sufficient condition for $R^1(t, A, B\alpha)$.



Theorem 4.3. Let a function of the form (1) be in class N . If

$$\sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)(1+\alpha|B|)|a_k| \leq \alpha|l||A-B|. \tag{4.4}$$

Then, $\psi \in R^1(t, A, B\alpha)$.

Proof. Given that

$$\sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)(1+\alpha|B|)|a_k| \leq \alpha|l||A-B|$$

$$r < 1 \Rightarrow r^{k-t} < 1.$$

$$\sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)(1+\alpha|B|)|a_k|r^{k-t}$$

$$\leq \alpha|l||A-B| \sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)|a_k|r^{k-t}$$

$$\leq \alpha|l||A-B| - |B| \sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)|a_k|r^{k-t}.$$

Hence,

$$\therefore |\psi'(z) - t!a_t| \leq \alpha|l(A-B) - B(\psi'(z) - t!a_t)|$$

$$\therefore \frac{|\psi'(z) - t!a_t|}{|l(A-B) - B(\psi'(z) - t!a_t)|} < \alpha$$

Therefore, $\psi \in R^1(t, A, B\alpha)$. Now with operator $(I_{a,b,c}\psi(z))^t$ we obtained inclusion relationship for the class $R^1(t, A, B, \alpha)$.

Theorem 4.4. Let $a, b \in \mathbb{C} \setminus \{0\}$ and $c > |a| + |b|$. If $\psi \in R^1(t, A, B, \alpha)$ with

$$a_n = |a_n|e^{i\frac{3n+1}{2}\pi}, 0 < |B| < 1$$

$$H_t = \sum_{k=0}^{t-1} \frac{(|a|)_k(|b|)_k}{(|c|)_k}$$

and

$$\frac{\tau(c - |a| - |b|)\tau(c)}{\tau(c - |a|)\tau(c - |b|)} \leq \frac{1 - \alpha|B|}{1 + \alpha|B|} + H_t.$$

Then, $I_{a,b,c}\psi(R^1(t, A, B, \alpha)) \subseteq R^1(t, A, B, \alpha)$, where the operator $I_{a,b,c}\psi$ is defined in (3).

Proof. Given that $\psi \in R^1(t, A, B, \alpha)$. From theorem 3, we have

$$\sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)(1+\alpha|B|)|L_k| \leq \alpha|l||A-B|,$$

where,

$$L_k = \frac{(a)_{k-1}(b)_{k-1}}{(c)_{k-1}}a_k.$$

From corollary 2, we have

$$|a_k| \leq \frac{\alpha|l||A-B|}{k(k-1)\dots(k-t+1)(1-\alpha|B|)}, \quad k \geq 2.$$

$$\sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)(1+\alpha|B|) \left| \frac{(a)_{k-1}(b)_{k-1}}{(c)_{k-1}} \right| |a_k|$$

$$= \sum_{k=t+1}^{\infty} k(k-1)\dots(k-t+1)(1+\alpha|B|)$$

$$\left| \frac{(a)_{k-1}(b)_{k-1}}{(c)_{k-1}} \right| \frac{\alpha|l||A-B|}{k(k-1)\dots(k-t+1)(1-\alpha|B|)}$$

$$= \frac{\alpha|l||A-B|(1+\alpha|B|)}{(1-\alpha|B|)} \sum_{k=t+1}^{\infty} \left| \frac{(|a|)_{k-1}(|b|)_{k-1}}{(|c|)_{k-1}} \right|$$

$$= \frac{\alpha|l||A-B|(1+\alpha|B|)}{(1-\alpha|B|)} \sum_{k=0}^{\infty} \frac{(|a|)_{k-1}(|b|)_{k-1}}{(|c|)_{k-1}} - H_t$$

$$= \frac{\alpha|l||A-B|(1+\alpha|B|)}{(1-\alpha|B|)} \left(\frac{\tau(c - |a| - |b|)\tau(c)}{\tau(c - |a|)\tau(c - |b|)} - H_t \right)$$

$$\leq \frac{\alpha|l||A-B|(1+\alpha|B|)}{(1-\alpha|B|)} \left(\frac{\tau(c - |a| - |b|)\tau(c)}{\tau(c - |a|)\tau(c - |b|)} - H_t \right)$$

$$= \frac{\alpha|l||A-B|(1+\alpha|B|)}{(1-\alpha|B|)} \frac{(1-\alpha|B|)}{(1+\alpha|B|)}$$

$$= \alpha|l||A-B|.$$

Therefore, $I_{a,b,c}\psi \in R^1(t, A, B, \alpha)$,

$$I_{a,b,c}\psi(R^1(t, A, B, \alpha)) \subseteq R^1(t, A, B, \alpha)$$

[10] has introduced lemma which is useful for the proof of next theorem. \square

Lemma 4.5. Let w be the regular in unit disc D with $w(0) = 0$. Then $|w(z)|$ attains a maximum value on the circle $|z| = r (0 \leq r < 1)$ at a point Z_0 we can write

$$z_0 w'(z_0) = k w(z_0) \quad (k \geq 1). \tag{4.5}$$

Theorem 4.6. Let a function of the form (1) be in the class N . Assume

$$\left| \left(\frac{(I_{a,b,c}\psi(z))^t - t!L_t}{1-\alpha} \right)^\beta \right| \left| \frac{(zI_{a,b,c}\psi(z))^{t+1}}{(I_{a,b,c}\psi(z))^t - \alpha t!L_t} \right|^\gamma$$

$$< \left(\frac{1}{1+t!|L_t|} \right)^\gamma. \tag{4.6}$$

For some real $\alpha (0 \leq \alpha < 1)$, $\beta > 0, r > 0$. Then,

$$\left| (I_{a,b,c}\psi(z))^t - t!L_t \right| < 1 - \alpha. \tag{4.7}$$

Where,

$$L_t = \frac{(a)_{t-1}(b)_{t-1}}{(c)_{t-1}}, a_1 = 1, t \geq 1.$$

Proof. Let

$$Iw(z) = \frac{(I_{a,b,c}\psi(z))^t - t!L_t}{1-\alpha}$$

$$\frac{zw'(z)}{w(z) + t!L_t} = \frac{\frac{(I_{a,b,c}\psi(z))^{t+1}}{1-\alpha}}{\frac{(I_{a,b,c}\psi(z))^t - t!L_t}{1-\alpha} + t!L_t}$$

$$= \frac{(I_{a,b,c}\psi(z))^{t+1}}{(I_{a,b,c}\psi(z))^t - \alpha t!L_t}$$



$$\begin{aligned} \therefore |w(z)|^\beta \left| \frac{zw'(z)}{w(z) + t!L_t} \right|^\gamma &= \left| \left(\frac{(I_{a,b,c}\Psi(z))^t - t!L_t}{1 - \alpha} \right)^\beta \right| \\ \left| \frac{(zI_{a,b,c}\Psi(z))^{t+1}}{(I_{a,b,c}\Psi(z))^t - \alpha t!L_t} \right|^\gamma &< \left(\frac{1}{1 + t!|L_t|} \right)^\gamma \end{aligned} \quad (4.8)$$

Suppose there exist point $z_0 \in U$ such that

$$\text{Max } |w(z)| = |w(z_0)| = 1, \quad |z| \leq |z_0|.$$

\therefore by lemma (10) we have

$$\left| \frac{z_0 w'(z_0)}{w(z_0)} \right| = k \geq 1.$$

$$\begin{aligned} |w(z_0)|^\beta \left| \frac{zw'(z_0)}{w(z_0) + t!L_t} \right|^\gamma &= \left| \frac{zw'(z_0)}{w(z_0) + t!L_t} \right|^\gamma \\ &= \left| \frac{z_0 w'(z_0)}{w(z_0) + t!L_t} \right|^\gamma \left| \frac{w(z_0)}{w(z_0) + t!L_t} \right|^\gamma \\ &= k^\gamma \left| \frac{1}{w(z_0) + t!L_t} \right|^\gamma \\ &\geq \left| \frac{k}{1 + t!|L_t|} \right|^\gamma \\ &\geq \left| \frac{1}{1 + t!|L_t|} \right|^\gamma. \end{aligned}$$

Which contradicts (14). Hence, $|w(z)| = 1$

$$\therefore \left| \frac{(I_{a,b,c}\Psi(z))^t - t!L_t}{1 - \alpha} \right| < 1.$$

This shows that

$$\left| (I_{a,b,c}\Psi(z))^t - t!L_t \right| < |1 - \alpha|.$$

Hence, completed the proof of theorem 6. □

Corollary 4.7. *Let a function of the form (1) be in the class A satisfying inequality (12)*

$$(I_{a,b,c}\Psi(z))^{t-1} + (1 - t!L_t)z$$

is univalent in D

Proof.

$$\left((I_{a,b,c}\Psi(z))^{t-1} + (1 - t!L_t)z \right)' = (I_{a,b,c}\Psi(z))^t - t!L_t + 1.$$

From theorem (6), we have

$$\Re \left\{ \left((I_{a,b,c}\Psi(z))^{t-1} + (1 - t!L_t)z \right)' \right\} > 0, \quad (z \in U)$$

Therefore, by [2] Alexander-Noshiro-Warschawski theorem the

$$\left((I_{a,b,c}\Psi(z))^{t-1} + (1 - t!L_t)z \right)$$

is univalent in D . □

References

- [1] Lee, H. J., Cho, N. E. and Owa, S., Properties for certain subclass of analytic functions with nonzero coefficients, *Journal of Inequality and Applications.*, (2014).
- [2] Pascu, N. N., Obradovic, M. and Radomir, I., On Alexander-Noshiro-Warsschawski theorem, *Filomat*, 8(1994), 99-101.
- [3] Ponnusamy, S. and Vuorinen, M., *Univalence and convexity properties for Gaussian hypergeometric functions*, Preprint 82, Department of Mathematics, University of Helsinki, (1995).
- [4] Ruscheweyh, S. and Singh, V., On the order of star likeness of hypergeometric functions, *J. Math. Anal Appl*, 113(1986), 1-11.
- [5] Dixit, K. K. and Pal, S.K., On a class of univalent functions related to complex order, *Indian J. Pure App. Math*, 26(9)(1995), 889-896.
- [6] Caplinger, T. R. and Causey, W. M., A class of univalent functions, *Proc. Am. Math. Soc*, 39(1973), 357-361.
- [7] Kim, J. A. and Cho, N. E., Properties of convolutions for hypergeometric series with univalent functions, *Adv. Differ. Equ*, 2013(2013), Article Number-101.
- [8] Dashrath,, *On some classes related to spiral-like univalent and multivalent functions*, PhD thesis, Kanpur University, Kanpur, (1984).
- [9] Duren, P. L., *Univalent functions*, Springer: New York, (1983).
- [10] Jack, I. S., Functions star like and convex of order, *J. Lond. Math. Soc*, (1971), 3469-474.

 ISSN(P):2319 – 3786
 Malaya Journal of Matematik
 ISSN(O):2321 – 5666

